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Big O Notation

A function        is             if and only if there exists 
some         and           such that:

1

<latexit sha1_base64="6sIig8PiiJ/IVPZ2df9I5jJYSDU=">AAAB63icbVBNSwMxEJ2tX7V+VT16CRahXsqulOqx6MVjBfsB7VKyabYNTbJLkhXK0r/gxYMiXv1D3vw3Zts9aOuDgcd7M8zMC2LOtHHdb6ewsbm1vVPcLe3tHxwelY9POjpKFKFtEvFI9QKsKWeStg0znPZiRbEIOO0G07vM7z5RpVkkH80spr7AY8lCRrDJpLAqL4fliltzF0DrxMtJBXK0huWvwSgiiaDSEI617ntubPwUK8MIp/PSINE0xmSKx7RvqcSCaj9d3DpHF1YZoTBStqRBC/X3RIqF1jMR2E6BzUSvepn4n9dPTHjjp0zGiaGSLBeFCUcmQtnjaMQUJYbPLMFEMXsrIhOsMDE2npINwVt9eZ10rmpeo1Z/qFeat3kcRTiDc6iCB9fQhHtoQRsITOAZXuHNEc6L8+58LFsLTj5zCn/gfP4AYBuN0A==</latexit>

f(n)
<latexit sha1_base64="nSx/gTzddz1FhTmwENGEwW2Ab4I=">AAAB7nicbVA9TwJBEJ3DL8Qv1NJmIzGBhtwZopZEGzsxESGBC9lbBtiwt3fZ3TMhF36EjYXG2Pp77Pw3LnCFgi+Z5OW9mczMC2LBtXHdbye3tr6xuZXfLuzs7u0fFA+PHnWUKIZNFolItQOqUXCJTcONwHaskIaBwFYwvpn5rSdUmkfywUxi9EM6lHzAGTVWat2Vh2VZqfSKJbfqzkFWiZeREmRo9Ipf3X7EkhClYYJq3fHc2PgpVYYzgdNCN9EYUzamQ+xYKmmI2k/n507JmVX6ZBApW9KQufp7IqWh1pMwsJ0hNSO97M3E/7xOYgZXfsplnBiUbLFokAhiIjL7nfS5QmbExBLKFLe3EjaiijJjEyrYELzll1fJ43nVu6jW7mul+nUWRx5O4BTK4MEl1OEWGtAEBmN4hld4c2LnxXl3PhatOSebOYY/cD5/AMa9jo8=</latexit>

O(g(n))
<latexit sha1_base64="AZ9R5onISBk2Wab2daLEzronqvo=">AAAB7HicbVBNS8NAEJ3Ur1q/qh69LBbBU0mkqCcpevFYwbSFNpTNdtIu3WzC7kYopb/BiwdFvPqDvPlv3LY5aOuDgcd7M8zMC1PBtXHdb6ewtr6xuVXcLu3s7u0flA+PmjrJFEOfJSJR7ZBqFFyib7gR2E4V0jgU2ApHdzO/9YRK80Q+mnGKQUwHkkecUWMln5Eb4vbKFbfqzkFWiZeTCuRo9Mpf3X7CshilYYJq3fHc1AQTqgxnAqelbqYxpWxEB9ixVNIYdTCZHzslZ1bpkyhRtqQhc/X3xITGWo/j0HbG1Az1sjcT//M6mYmugwmXaWZQssWiKBPEJGT2OelzhcyIsSWUKW5vJWxIFWXG5lOyIXjLL6+S5kXVu6zWHmqV+m0eRxFO4BTOwYMrqMM9NMAHBhye4RXeHOm8OO/Ox6K14OQzx/AHzucPZ02Nxg==</latexit>

c > 0
<latexit sha1_base64="oSBdnQDzge5ZLqUfRJ6kf4SKB8g=">AAAB7nicbVBNS8NAEJ3Ur1q/qh69LBbBU0mkqCcpevFYwX5AG8pmu2mXbjZhdyKU0B/hxYMiXv093vw3btsctPXBwOO9GWbmBYkUBl332ymsrW9sbhW3Szu7e/sH5cOjlolTzXiTxTLWnYAaLoXiTRQoeSfRnEaB5O1gfDfz209cGxGrR5wk3I/oUIlQMIpWaqu+S26I2y9X3Ko7B1klXk4qkKPRL3/1BjFLI66QSWpM13MT9DOqUTDJp6VeanhC2ZgOeddSRSNu/Gx+7pScWWVAwljbUkjm6u+JjEbGTKLAdkYUR2bZm4n/ed0Uw2s/EypJkSu2WBSmkmBMZr+TgdCcoZxYQpkW9lbCRlRThjahkg3BW355lbQuqt5ltfZQq9Rv8ziKcAKncA4eXEEd7qEBTWAwhmd4hTcncV6cd+dj0Vpw8plj+APn8weeQY50</latexit>

n0 > 0

<latexit sha1_base64="qPmX8C4L+RjTAcOizo6+fZaY24o=">AAAB/XicbVDLSgMxFM3UV62v8bFzEyxCdVFmpKjLohuXFewD2qFk0jttaCYzJhmhTou/4saFIm79D3f+jeljoa0HLpyccy+59/gxZ0o7zreVWVpeWV3Lruc2Nre2d+zdvZqKEkmhSiMeyYZPFHAmoKqZ5tCIJZDQ51D3+9djv/4AUrFI3OlBDF5IuoIFjBJtpLZ9MAwK4mSIWxzuMcWnuGuebTvvFJ0J8CJxZySPZqi07a9WJ6JJCEJTTpRquk6svZRIzSiHUa6VKIgJ7ZMuNA0VJATlpZPtR/jYKB0cRNKU0Hii/p5ISajUIPRNZ0h0T817Y/E/r5no4NJLmYgTDYJOPwoSjnWEx1HgDpNANR8YQqhkZldMe0QSqk1gOROCO3/yIqmdFd3zYum2lC9fzeLIokN0hArIRReojG5QBVURRY/oGb2iN+vJerHerY9pa8aazeyjP7A+fwCklZNq</latexit>

|f(n)|  c ⇤ g(n) <latexit sha1_base64="ijgmgEl2c8aMNDjvoOU9vEnRnKo=">AAAB8XicbVBNS8NAEJ3Ur1q/qh69LBbBU0lE1GPRi8cK9gPbUDbbSbt0s4m7G6GE/gsvHhTx6r/x5r9x2+agrQ8GHu/NMDMvSATXxnW/ncLK6tr6RnGztLW9s7tX3j9o6jhVDBssFrFqB1Sj4BIbhhuB7UQhjQKBrWB0M/VbT6g0j+W9GSfoR3QgecgZNVZ6kKQ7wEcie26vXHGr7gxkmXg5qUCOeq/81e3HLI1QGiao1h3PTYyfUWU4EzgpdVONCWUjOsCOpZJGqP1sdvGEnFilT8JY2ZKGzNTfExmNtB5Hge2MqBnqRW8q/ud1UhNe+RmXSWpQsvmiMBXExGT6PulzhcyIsSWUKW5vJWxIFWXGhlSyIXiLLy+T5lnVu6ie351Xatd5HEU4gmM4BQ8uoQa3UIcGMJDwDK/w5mjnxXl3PuatBSefOYQ/cD5/AIIhkCs=</latexit>

n � n0for all


